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XH24. 7T OE RERSIRED—MREIZLYHNEAZESH-AD - HFH

(H28.12. 313R#E] TEET®E (KF) AEEAAOHER (S5

TERETCRF)a—F {TERET(KF) 4 10 11 12 13 14 15
8011 IRAETFEERLY 0 0 0 0 0 2
8012 IRABTERERA 0 2 1 1 0 0
8013 IRABTEER (& 1 2 1 0 2 1
8021 IR AHETIZRKLY 0 0 0 0 1 0
8022 IRAHETRKA 0 0 0 0 0 0
8023 R AETFRK & 0 0 0 0 0 0
8031 IRAHETR ALY 2 2 0 2 4 0
8032 IRAET R A A 0 0 1 0 0 0
8033 IRAET R A 0 0 1 0 0 0
8041 IR AETEEIFLY 0 0 1 0 0 1
8042 IRAET LR A 0 1 0 0 0 1
8043 IR A HT B605% (X 0 0 0 0 0 0
8044 IR AET AR 0 0 0 0 0 0
8045 IR A HT 860% (F 1 1 1 1 1 0
8050 IR AHET IR A 0 1 4 1 2 0
8060 F N b ] 0 2 0 0 0 0
8070 IRAETER 0 0 1 1 1 2
8080 IR A BT S %A 1 0 0 1 1 0
8090 IRAETEE 1 1 1 0 0 0
8100 IRAETH /R 0 0 0 0 0 0
8110 IR ASHET )1 53 1 1 0 0 1 0
8120 IR AETEEME 1 1 3 1 2 1
8130 IRAETA E 0 0 2 1 0 2
8140 IRAETEEERT 0 1 0 3 3 3
8150 IRAETEEERL 0 2 2 0 0 1
9999 IRARR X ET 8 17 19 12 18 14
9010 FTHEHAREH 7 11 12 9 14 8
9020 FTHEHIEER 7 3 5 10 5 7
9030 FTHEI#%#H 28 31 35 36 29 31
9040 FTHEHRH 30 22 15 29 24 32
9999 FTHREE 72 67 67 84 712 718
9110 FEETTHEIE 12 12 11 10 15 10
9120 =BT A& 6 3 5 5 4 10
9130 FEETRE 2 0 1 3 0 3
9140 SERT T A 5 3 7 8 6 5
9150 SERT L 45 10 4 12 9 10 11
9160 SEETER AT 10 9 13 5 11 10
9170 =ETNE 25 13 19 12 19 18
9180 SR ET 85 8 6 9 11 14 10
9190 f=ETZ A 7 0 3 4 2 3
9200 SEETET IS 4 2 6 5 6 3
9210 RETE 5 7 5 12 6 7
9220 SR ET R 13 10 13 12 11 9
9230 SEET B M 13 14 14 11 13 14
9240 SRETIE R 3 4 2 1 3 6
9250 $ERTIL Frth 12 12 17 15 9 11
9999 FERXET 135 99 137 123 129 130
9310 B SHET AR 4 0 2 1 3 2
9320 RSETIE 4 3 3 2 2 5
9330 R ISET/INA 0 1 0 4 2 5
9340 RISHETE 4 4 5 7 8 8
9999 R XE 12 8 10 14 15 20
9410 RETTE 3 11 5 12 9 9
9420 RETHHE 1 3 1 1 3 3
9430 RETEXR 1 2 0 3 3 2
9440 RETAEF 0 0 0 0 0 0
9450 SRETHER 0 0 0 1 0 0
9460 RETCHE 0 0 0 0 0 0
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XH24. 7T OE RERSIRED—MREIZLYHNEAZESH-AD - HFH
(H28.12. 313R#E] TEET®E (KF) AEEAAOHER (S5

TRETCRF) 3—F {TIET(KF) £ 10 11 12 13 14 15 16 17 18 19

9470 RETER 0 0 0 0 0 0 0 0 0 0
9480 RETHER 0 2 2 1 1 1 1 2 1 3
9999 RREE 5 18 8 18 16 15 11 13 13 9

99999 a&t 1052 1048 1088 1157 1133 1177 1273 1238 1224 1134



XH24. 7T OE RERSIRED—MREIZLYHNEAZESH-AD - HFH
(H28.12. 313R#E] TEET®E (KF) AEEAAOHER (S5

TERETCRF)a—F {TERET(KF) 4 20 21 22 23 24 25 26 27
10 H ET 3 1 4 3 2 1 2 2
20 [ st BT 1 0 0 1 2 1 1 1
30 & HT 4 8 4 3 1 1 2 0
40 LRHET 1 1 0 4 3 0 2 2
50 AET—TH 4 9 13 6 6 6 13 6
60 AETZTH 4 2 1 7 2 4 5 3
70 AET=TH 9 9 7 5 1 9 7 2
80 AT I T 1 0 0 0 0 0 0 0
90 PR T I AT 3 1 4 5 1 3 7 0
100 Jt o FLET 2 4 0 1 2 6 0 3
110 ¥ASTHT 24 32 20 28 21 11 25 26
120 /NAW. N 3 4 3 4 4 3 1 2
130 TEFHT 7 7 6 8 4 5 11 11
140 £ [E] T 0 0 0 0 3 0 0 0
150 TE T 6 6 10 9 12 8 4 4
9999 KRB XE 72 84 72 8 64 58 80 62
510 AETMTH 7 2 3 3 7 4 5 4
520 heEE T 2 2 0 1 0 1 5 3
530 J\IEHT 2 1 5 3 4 2 5 3
540 15 EET 4 9 6 8 7 5 8 6
550 S BT 8 6 8 7 5 4 5 2
560 = ZEHT 3 1 4 1 5 3 4 3
570 EEET 1 0 1 2 0 1 1 1
580 $BHET 1 2 1 2 1 4 3 2
590 FEET 1 0 1 2 5 3 0 2
600 RN 24 15 13 10 13 5 7 1
610 EHT 1 3 2 5 6 4 1 2
620 HAE—TH 0 0 0 1 1 0 0 0
9999 J\ KB XE 54 41 4 45 54 36 44 39
1010 B AHET 5 6 7 5 4 3 4 7
1020 L HHET 2 6 3 3 8 4 10 8
1030 mh A ET 3 4 5 2 4 3 3 1
1040 Fichag:ii 9 7 9 7 6 13 7 15
1050 K HAT 14 11 13 15 13 13 9 7
1060 F_EHT 7 7 10 8 13 6 13 6
1070 Fr IR ET 9 14 22 8 15 11 19 14
1080 E M HET 7 9 15 11 9 6 11 13
1090 HEHRT 12 19 11 10 9 7 10 8
1100 L+ BEHRT 4 5 11 8 9 8 6 11
1110 1S IEET 3 5 4 5 6 3 7 4
1120 12 1E JTHT 1 0 2 0 0 0 0 0
1130 + 0T 0 1 0 1 0 0 0 0
1140 FRRET 0 0 0 0 0 0 0 0
1150 FERET—TH 4 1 2 2 1 2 3 1
1160 FEET-TH 1 8 2 5 5 0 2 4
1170 H7KET 8 1 0 5 4 2 2 3
1180 BEFLET 5 9 7 6 5 7 4 2
1190 FEFARHT 1 5 1 5 0 3 3 2
1200 RKFH—TH 2 2 3 3 1 0 1 0
1210 XKFHIZTH 1 1 4 3 1 4 1 2
1220 FHT 1 4 2 4 3 1 1 0
1230 iRET 5 2 3 3 3 1 2 1
1240 HEET 1 2 2 7 5 0 3 8
1250 1= ET 6 5 1 1 4 4 2 4
1260 JBh & 0 1 0 0 0 2 1 1
1270 HEHET 2 3 4 3 2 2 2 2
1280 FRAE T 5 2 3 2 2 4 3 2
1290 SR ET 3 5 1 5 4 3 3 4
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XH24. 7T OE RERSIRED—MREIZLYHNEAZESH-AD - HFH

[H28.12. 31IR7E) 1TEET® (KF) BEHAINAOETLE (&5
THRETCRF)3—F {TIRET(KE) 4 20 21 22 23 24 25

1300 A ZEMT 0 1 3 2 5 1
1310 RIGHT 4 2 5 1 0 1
9999 A HEEXE 125 148 155 140 141 114
1510 HEHD L BT 18 16 15 15 16 13
1520 HE T ET 18 16 7 6 5 11
1530 HE#0 ST ET 4 5 5 2 6 5
1540 KigFHT 9 15 11 7 14 12
9999 FERNAR: X B 49 52 38 30 41 41
2010 = EHRHET 5 1 5 2 2 7
2020 %= EFhHET 9 8 8 6 6 11
2030 J0ET 0 0 1 0 1 0
2040 HET—TH 5 4 1 2 4 5
2050 WET—TH 6 6 2 6 5 5
2060 g FE BT 0 1 1 0 1 1
2070 FRET—TH 7 3 3 8 4 2
2080 FRETZ=TH 6 4 4 2 3 4
2090 Ty ET 34 17 28 28 36 27
2100 ==bld:] 5 7 5 0o 11 9
2110 FENNFTET—T B 6 7 5 2 6 6
2120 HEHIFTET —T B 5 9 10 6 4 1
9999 ZEREXE 88 67 73 62 83 78
2510 FA U BT 38 32 31 36 33 33
2520 K B2 ET 29 31 20 29 17 21
2530 =/NEET 10 16 3 9 10 9
2540 FHiGHT 5 8 11 7 3 6
2550 SRET 2 8 3 4 0 7
2560 = BT 19 18 16 11 17 14
2570 KEHRT 0 0 1 2 1 1
9999 WERXE 103 113 85 98 81 91
3010 RHTET 17 17 16 13 13 11
3020 T ET 24 24 16 23 22 15
3030 L+ EET 15 18 11 14 16 17
3040 =1z 0] 2 3 6 1 0 2
3050 T R ET 35 33 43 34 36 36
3060 H R THT 5 5 9 6 7 4
3070 T BN RT 17 11 17 13 13 4
3080 H T 3 7 1 8 10 11
3090 H R ET 8 7 15 11 8 6
3100 s2==lsic: ) 13 16 11 15 18 27
3110 zZl==pId:1) 7 12 6 12 9 9
9999 INTFEREXE 146 153 161 150 152 142
3510 SR 0 3 4 4 3 7
3520 E R hHET 16 7 6 6 4 6
3530 ERTHT 24 12 23 15 11 24
3540 Z R KHET 7 9 7 8 6 4
3550 AEFHT 18 16 14 18 9 21
3560 = FERHET 4 3 6 2 1 2
3570 = e 24 18 12 17 10 14
3580 3 L BT 11 17 13 11 20 9
3590 TEHT 0 0 0 0 0 0
9999 SHBEEXE 104 85 85 81 70 87
4010 201 P ET 6 4 4 2 6 5
4020 fE&HT 1 3 4 6 0 3
4030 1SET 6 4 8 5 5 4
4040 = HE A ET 5 4 6 7 5 6
4050 7K E/T 12 12 16 7 17 10
4060 B2 4 AT 4 1 5 4 4 8
4070 At [ ET 5 3 3 3 7 2
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XH24. 7T OE RERSIRED—MREIZLYHNEAZESH-AD - HFH
(H28.12. 313R#E] TEET®E (KF) AEEAAOHER (S5

TERETCRF)a—F {TERET(KF) 4 20 21 22 23 24 25 26
4080 =T iHiRT 7 1 5 2 4 3 1
4090 R ET 3 4 6 3 1 7 4
4100 A EFNET 0 1 1 4 1 0 3
4110 Jt S FOET 3 1 1 1 2 4 2
9999 R XET 52 38 59 44 52 52 45
4510 ERE—ZHT 12 15 9 15 16 15 21
4520 B FKMET 4 5 4 2 1 5 1
4530 AREE=FHET 1 5 3 3 2 1 1
4540 AR FHT 3 1 6 9 7 3 5
4550 AR FHHET 1 7 5 2 2 5 1
4560 EREENTEET 1 1 1 2 1 3 0
4570 ARECHET 4 4 5 4 6 2 1
4580 AR )\ FEHT 2 1 2 1 3 2 3
4590 AR N FHET 9 7 4 2 8 6 1
4600 ERE+ZHT 9 9 9 9 5 7 6
4610 EREE+—FHET 8 8 10 18 12 6 12
4620 B+ — FKHET 18 10 14 13 18 18 20
9999 BERRET 72 73 72 80 81 73 72
5010 REF0 B /T 8 5 10 5 5 4 5
5020 AR FNBA 5T 7 2 10 3 8 7 7
5030 REFNE{— /T 14 6 7 9 2 8 7
9999 AR X &Y 29 13 27 17 15 19 19
5510 b R ET 3 6 2 2 5 3 4
5520 = Hh BT 8 11 12 1 6 5 9
5530 =T 8 15 8 5 3 9 10
5540 T 4 2 2 6 4 4 3
5550 BET 1 0 0 0 1 1 0
9999 =X E 24 34 24 24 19 22 26
6010 [iE] BT /)N B 0 0 1 0 2 1 2
6020 fif] BT e 4 1 3 4 3 1 4
6030 [ BT &)1 2 3 1 0 0 1 1
6040 13 FFET 3 3 3 1 3 5 0
6050 JIIEHET R 6 1 4 3 2 2 1
6060 JIIEBETEE 1 4 2 1 1 1 2
9999 BEERRXET 16 12 14 9 11 11 10
6510 H&EA#EAHET 1 0 0 1 2 0 1
6520 H&E A KEHT 1 4 1 0 0 0 0
6530 B &R AFTHET 3 2 1 4 2 2 1
6540 HEAILUTH 3 1 1 0 0 1 3
6550 BEAM 2 NET 2 1 5 1 2 1 0
6560 HEAEILHT 1 1 1 2 1 1 0
6570 HEAGFHET 1 2 3 1 2 3 2
6580 HZEARHT 1 1 1 0 3 0 1
6590 HEARHE 0 1 1 0 0 0 0
6600 HZEAGHT 1 1 0 2 1 0 3
6610 HZEA LT 1 1 2 0 1 0 0
6620 HEAGFHT 0 0 0 1 1 0 0
6630 HEATHAET 2 0 2 3 0 1 1
6640 HEA EHBHT 0 0 0 2 0 1 0
6650 HZEASHE 0 0 0 0 1 0 0
6660 HEAFRHET 0 0 0 0 0 0 0
9999 HEARRKE 17 15 18 17 16 10 12
7010 ZRIMOm 1 1 5 4 2 3 3
7020 ZRKHT 1 3 2 4 5 3 2
7030 Z RIRHAET 4 2 2 1 2 1 1
7040 ZRTXKEHET 1 6 3 1 2 4 1
7050 Z RETHISHET 0 1 0 2 3 3 1
9999 ZRBREXE 7 13 12 12 14 14 8
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XH24. 7T OE RERSIRED—MREIZLYHNEAZESH-AD - HFH

(H28.12. 313R#E] TEET®E (KF) AEEAAOHER (S5

TERETCRF)a—F {TERET(KF) 4 20 21 22 23 24 25
8011 IRAETFEERLY 1 1 3 1 3 2
8012 IRABTERERA 4 0 5 4 2 3
8013 IRABTEER (& 0 0 0 2 0 0
8021 IR AHETIZRKLY 0 0 0 0 1 1
8022 IRAHETRKA 0 0 0 0 0 0
8023 R AETFRK & 0 0 0 0 0 0
8031 IRAHETR ALY 4 3 0 2 3 1
8032 IRAET R A A 0 0 0 1 0 0
8033 IRAET R A 0 0 1 0 1 0
8041 IR AETEEIFLY 2 0 1 0 0 2
8042 IRAET LR A 0 0 1 0 2 1
8043 IR A HT B605% (X 0 1 0 0 0 0
8044 IR AET AR 1 0 0 0 1 0
8045 IR A HT 860% (F 0 0 0 0 0 0
8050 IR AHET IR A 3 1 1 0 2 1
8060 F N b ] 1 3 3 1 2 3
8070 IRAETER 2 1 0 3 1 0
8080 IR A BT S %A 0 0 0 0 0 1
8090 IRAETEE 0 0 0 0 0 0
8100 IRAETH /R 0 0 0 0 0 0
8110 IR ASHET )1 53 0 1 1 1 0 0
8120 IR AETEEME 1 2 2 1 0 0
8130 IRAETA E 2 2 0 0 0 1
8140 IRAETEEERT 6 2 4 1 1 1
8150 IRAETEEERL 0 2 1 2 1 4
9999 IRARR X ET 27 19 23 19 20 21
9010 FTHEHAREH 7 5 11 6 13 7
9020 FTHEHIEER 9 8 3 5 5 6
9030 FTHEI#%#H 22 14 15 20 16 9
9040 FTHEHRH 30 20 26 18 21 31
9999 FTHREE 68 47 55 49 55 53
9110 Fi =R 15 10 7 7 7 8
9120 =BT A& 4 5 8 5 3 4
9130 FEETRE 2 4 3 1 2 2
9140 SERT T A 12 11 8 8 6 5
9150 SERT L 45 8 9 9 8 12 4
9160 SEETER AT 14 8 6 11 16 7
9170 =ETNE 18 14 12 11 15 17
9180 SR ET 85 11 12 9 4 7 16
9190 f=ETZ A 8 4 5 4 5 2
9200 SEETET IS 2 0 6 9 2 6
9210 RETE 9 8 4 12 5 14
9220 SR ET R 16 10 9 8 5 8
9230 SEET B M 14 18 8 14 8 13
9240 SRETIE R 10 10 11 5 12 3
9250 $ERTIL Frth 23 31 6 13 21 14
9999 FERXET 166 154 111 120 126 123
9310 B SHET AR 7 2 1 4 2 2
9320 RSETIE 3 7 0 6 1 6
9330 R ISET/INA 4 0 2 0 1 1
9340 HZET 13 13 7 4 5 8
9999 R XE 27 22 10 14 9 17
9410 RETTE 2 4 3 8 4 5
9420 RETHHE 4 3 0 2 2 2
9430 RETEXR 1 3 2 1 1 1
9440 RETAEF 0 0 0 0 0 0
9450 SRETHER 0 0 0 0 0 0
9460 RETCHE 0 0 0 0 0 0
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XH24. 7T OE RERSIRED—MREIZLYHNEAZESH-AD - HFH
(H28.12. 313R#E] TEET®E (KF) AEEAAOHER (S5

TRETCRF) 3—F {TIET(KF) £ 20 21 22 23 24 25 26 27 28 29

9470 RETER 0 0 0 0 0 0 0 0 0 0
9480 RETHER 2 2 0 0 1 2 0 0 0 0
9999 RREE 9 12 5 11 8 10 8 14 11 16

99999 a&t 1255 1195 1143 1106 1112 1072 1072 1131 1130 1218



XH24. 7T OE RERSIRED—MREIZLYHNEAZESH-AD - HFH
(H28.12. 313R#E] TEET®E (KF) AEEAAOHER (S5

TERETCRF)a—F {TERET(KF) 4 30 31 32 33 34 3 3 37 38 39
10 H ET 1 3 5 4 2 3 3 3 3 3
20 [ st BT 4 8 3 0 2 2 2 2 8 6
30 & HT 3 4 6 2 2 4 2 3 7 2
40 LRHET 1 3 2 2 1 2 0 5 1 2
50 AET—TH 6 6 2 4 9 2 1 2 3 3
60 AETZTH 9 6 12 8 7 2 5 9 10 9
70 AET=TH 1 5 2 6 5 9 5 4 5 9
80 AT I T 2 0 0 1 0 0 0 1 2 0
90 PR T I AT 3 4 6 2 8 1 4 2 6 9
100 Jt o FLET 0 4 1 2 1 3 3 4 4 5
110 ¥ASTHT 27 26 25 24 31 30 26 21 28 36
120 AT AHT 5 4 4 4 4 5 4 8 6 5
130 TEFHT 5 5 10 8 7 7 5 7 11 8
140 £ [E] T 0 1 0 0 0 0 0 0 0 2
150 FEFHET 12 14 14 11 11 10 13 14 7 11
9999 KRB XE 79 93 92 78 90 80 73 8 101 110
510 AETMTH 3 6 10 8 3 9 9 17 12 17
520 heEE T 3 7 1 3 9 10 1 4 4 7
530 J\IEHT 5 6 4 5 3 4 5 7 7 6
540 18R HT 9 7 8 3 10 7 14 6 14 10
550 S BT 4 8 6 7 5 6 8 7 5 9
560 = ZEHT 2 3 1 1 2 2 1 2 2 3
570 EEET 2 0 0 0 1 3 0 0 3 2
580 $BHET 2 3 3 4 0 2 3 4 1 1
590 FEET 2 3 1 0 0 0 0 1 1 0
600 RN 8 13 14 18 15 15 10 18 20 12
610 EHT 3 1 1 1 4 1 4 5 5 5
620 iERT—TH 0 0 0 0 0 0 0 0 0 0
9999 J\ KB XE 43 57 49 50 52 59 55 71 74 72
1010 B AHET 3 2 6 3 4 6 3 3 2 5
1020 L+ FHET 3 7 14 8 10 7 9 10 15 11
1030 o ET 6 9 5 5 9 6 8 16 12 16
1040 79 HT 17 17 12 19 20 19 14 10 14 14
1050 K HAT 16 19 15 15 12 11 10 13 17 22
1060 F_EHT 13 14 14 12 11 16 10 12 10 14
1070 Fr IR ET 18 27 15 16 12 16 19 22 15 17
1080 E M HET 10 9 13 14 11 9 9 6 8 7
1090 HEHRT 10 14 16 8 11 16 14 16 12 17
1100 L+ BEHRT 16 9 13 12 14 18 13 13 12 10
1110 1S IEET 2 5 5 8 1 5 7 4 5 4
1120 12 1E JTHT 1 1 0 0 0 0 0 2 1 2
1130 + 50T 0 0 2 0 1 1 0 0 0 1
1140 FRRET 0 1 0 0 1 0 1 0 0 0
1150 FERET—TH 5 7 3 3 6 5 2 4 3 2
1160 FEET-TH 7 2 1 4 4 3 7 8 3 3
1170 H7KET 5 4 5 5 8 5 2 4 6 4
1180 BEFLET 6 2 1 6 5 1 1 7 6 4
1190 FEFARHT 4 4 5 6 2 1 6 3 5 6
1200 KFH—TH 0 3 1 5 0 2 3 2 2 5
1210 XKFHIZTH 6 4 1 1 2 5 2 9 4 2
1220 FHT 0 2 2 7 3 0 7 3 2 7
1230 iRET 3 1 1 2 4 2 2 4 4 2
1240 HEET 6 4 4 1 2 2 2 5 1 2
1250 1= ET 4 3 3 3 3 6 7 3 4 0
1260 yER=E 3T ] 0 1 1 1 0 1 1 0 1 1
1270 HEE 5 3 2 3 4 4 2 3 3 3
1280 PRAEHT 2 3 4 5 1 1 5 3 3 7
1290 SR ET 3 7 3 3 2 3 3 3 4 3



XH24. 7T OE RERSIRED—MREIZLYHNEAZESH-AD - HFH

(H28.12. 313R#E] TEET®E (KF) AEEAAOHER (S5

TERETCRF)a—F {TERET(KF) 4 30 31 32 33 34 35
1300 A ZEMT 2 3 3 3 1 4
1310 RIGHT 3 0 0 0 0 0
9999 A HEEXE 176 187 170 178 164 175
1510 HEHD L BT 20 10 11 17 7 13
1520 HE T ET 11 10 13 9 8 18
1530 HE#0 ST ET 5 10 5 4 5 5
1540 KigFHT 12 6 9 7 6 7
9999 FERNAR: X B 48 36 38 37 26 43
2010 = EHRHET 3 3 3 8 9 7
2020 %= EFhHET 8 9 9 6 14 8
2030 J0ET 0 0 0 0 0 1
2040 HET—TH 7 7 3 3 2 3
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